

NOA-2025-04-046

April 08, 2025

Mr. Benjamin I. Dela Cruz Authorized Representative CONCORD METALS, INC. Grace Park, Caloocan City

## SUPPLY AND DELIVERY OF VARIOUS DUCTILE IRON (D.I) FITTINGS PR/WR: CONST-2025-02-004, CONST-2025-02-006, MAINT-2025-01-004

We are happy to inform you that the project stated above is hereby awarded in favor of your company with the following details:

BAC Resolution No.	:	BCR-2025-03-053	
Contract Cost	:	₱749,611.75	
Amount in Words	:	Seven Hundred Forty Nine Thousand Six Hundred Eleven Pesos And Seventy Five Centavos	
Purchase/Work Order No.	:	B202504-0087	
Date Issued	:	04/05/2025	

You are to sign or confirm this Notice of Award and to deliver the goods/services or implement the project based on the schedule of delivery/implementation stated in the Purchase/Work Order. The Procuring Entity shall be notified within two (2) days prior to delivery or implementation.

Very truly yours,

Sgd ENGR. CARLOS N. SANTOS, JR. General Manager

Conforme:	0		, 1	
Printed Name:	Gettern	H.	Labiant	)
Signature:		Sgd		
Date:	/A	pril 1	2, 2025	

"YOUR WATER OUR OBLIGATION YOUR CONVENIENCE OUR SERVICE"



(044) 815-3363 / (044) 815-3238 smwdbulacan@yahoo.com www.smwdbulacan.gov.ph

#302 J.P. Rizal St., Poblacion, Santa Maria, Bulacan



NOTICE TO PROCEED NTP-2025-04-037

April 08, 2025

Mr. Benjamin I. Dela Cruz Authorized Representative CONCORD METALS, INC. Grace Park, Caloocan City

This is to inform you that Purchase/Work Order stated below has been approved. You may now proceed with the implementation of the project effective upon the receipt of this notice.

Project Name	:	SUPPLY AND DELIVERY OF VARIOUS DUCTILE IRON (D.I) FITTINGS		
		24		
Purchase/Work Order No.	:	B202504-0087		
Date Approved	:	04/08/2025		
Contract Cost	:	₱749,611.75		
Amount in Words	:	Seven Hundred Forty Nine Thousand Six Hundred Eleven Pesos And Seventy Five Centavos		

Very truly yours,

Sgd ENGR. CARLOS N. SANTOS, JR. General Manager

Printed Name: <u>Gelleen</u> , H. Labiand Signature: <u>Sgd</u>	1 acknowledge	receipt of this No	otice on:
	Printed Name:	Gelleem,	t. Labiand
Dato: 1 1 2000	Signature:	Sgd	1
ADWI 12,000	Date:	April -	2,2025

(044) 815-3363 / (044) 815-3238 smwdbulacan@yahoo.com www.smwdbulacan.gov.ph #302 J.P. Rizal St., Poblacion, Santa Maria, Bulacan

Sgdpy/08/m

\*YOUR WATER OUR OBLIGATION YOUR CONVENIENCE OUR SERVICE\*



			٧	04/05/2025	
00000		Santa	Maria	PROCUS	
1/05/2025		WATER D	ISTRICT	PRIO	
	12-11-11	PURCHASE			
	ORD META	ALS. INC.	P.O. No.:	B202504-0087	
ddress: Grace	Park, Calo	ocan City	Date:	04/05/2025 CONST-2025-02-00	
			P.R. No.:	CONST-2025-02-00 02/05/2025-02-00 02/05/2025-02/06	0
	6-576-000		-VAT Date:	02/05/2025, 02/06	12025,
hilgeps Ref. No.:	11000000	3	AOQ No.:	A2025-03-81	
ode of Procurem	ent: Ne	gotiated Procurement - Small Value Pro	ocurement Date:	03/25/2025	
entlemen:	fumich this	office the following articles subject to the	terms and conditions con	tained herein.	
lace of Delivery:		acia Emilia Dulong Bayan, Sta. Maria, E	and the second se	the last of the local data and the	pon receipt of F
ate of Delivery:		and attinue a startig margarity and thattart	Payment To		
arranty:			Form of Pa	and an	ment
Stock No.	Unit	Description	Quantity	Unit Cost	Amount
3DIARF6	PC	DI ADAPTOR RF 150mm w/ BNG	29.0	7,155.40	207,506.60
3DIARF3	PC	DI ADAPTOR RF 75mm w/ BNG	6.0	3,826.60	22,959.60
3DISTC4	PC	DI SLEEVE TYPE COUPLING TR 100mm	1.0	5,495.75	5,495.75
3DISTC6	PC	DI SLEEVE TYPE COUPLING TR 150mm	34.0	7,884.05	268,057.70
3DISTC8	PC	DI SLEEVE TYPE COUPLING TR 200mm	9.0	20,263.50	182,371.50
3DISTC12	PC	DI SLEEVE TYPE COUPLING TR 300MM	2.0	27,170.95	54,341.90
3DISTC12	PC	DI SLEEVE TYPE COUPLING TR 75mm	2.0	4,439.35	8,878.70
30/3103	F.Ç	*** NOTHING FOLLOWS ***	2.0	.,	
(Total Amount i case of failure to	n Words) make the ful	I Seven Hundred Forty Nine Thousand Si Five Centavos Only I delivery within the time specified above, a pe	k X Hundred Eleven Pesos Analty of one-tenth (1/10) of o	And Seventy	49,611.75 av of delay shall be
mposed on undeliv	vered item/s.				
onforme:	-	>	Very truly	yours.	
	Sgd			Sgd	
Gelleen	14. Lal		ENGR. CA	RLOS N. SANTOS JR.	
	'	lame of Supplier		General Manager	
ate:	april s		Date:	AIRIX	
und Cluster :	. Invita I	Dalmacio CADEX MODE	ORS/BURS No. :	25-04-0	
unds Available :	Departmen		Date of the ORS/E		
		ABAS	Amount :	749, 61	. +2

Triplicate Copy: Supplier's Copy (1) Finance Copy (2) Gen Serv Copy (3)



 BAC Resolution No.
 BCR-2025-03-053

 Date
 03/27/2025

Name of Project SUI

## SUPPLY AND DELIVERY OF VARIOUS DUCTILE IRON (DI) FITTINGS

## BAC RESOLUTION RECOMMENDING AWARD OF CONTRACT FOR THE ABOVE STATED PROJECT

WHEREAS, The Purchase/Work Request (PR/WR) was received by the procurement with the following details:

PR /WR Nos.	CONST-2025-02-004/006 & MAINT-2025-01-004
Division/Section	CONSTRUCTION DIV. & MAINTENANCE DIVISION
Purpose	To provide D.I Fittings for relocation & rehabilitation of water meters, repairs & maintenance activities of the two (2) Divisions
Total ABC	₱859,370.80 /
	2 R 1998 H 0 L 19

WHEREAS, the project was included in the Annual Procurement Plan for the fiscal year 2025. The total Approved Budget for the Contract (ABC) stated above to be procured pursuant to the 2016 Revised Implementing Rules and Regulations (IRR) of Republic ACT (RA) 9184

Mode Of Procurement

SMALL VALUE PROCUREMENT

WHEREAS, The Purchase/Work Requests (PR/WR) was approved by the Head of the Procuring Entity (HOPE) and the procurement activity thereby started;

WHEREAS, the Request for Quotation (RFQ) was published in the Philgeps and in the website of the Procuring Entity as stated in RA 9184.

Ads/ Posting Date

03/19/2025

WHEREAS, the suppliers of known qualifications have responded and submitted the quotations. All quotations were considered and verified if in compliance with specifications and have submitted the documentary requirements needed.

Abstract of Quotation No. A2025-03-081

Date

03/25/2025

NOW, THEREFORE, with the foregoing findings, we the members of the BAC, hereby RESOLVED, as it is hereby RESOLVED, to recommend to the Head of Procuring Entity (HOPE) the award of the project with the following details as the,

IN CO	MPLIANCE WITH THE SPECIF	CATIONS AND DOCUMENTARY REQ	UIREMENTS
	Supplier Contract Cost	<b>CONCORD METALS, INC.</b> ✓ ₱749,611.75	
	Payment Terms	WITHIN 30 DAYS UPON RECEIPT OF	THE ITEMS
RESOLVED FINALLY, at the Sant		e, Santa Maria, Bulacan this 27th day Sgd 44425 NGRA S. ROMARATE	of <u>March</u> Year 2025
		- Chairperson	
Sgd 04 082020 Mary Diana \$. jDela Cruz, CPA BAC Member -Financial			Sgd 04/05/2015 Atty. Joshua E. Bautista BAC Member -Legal
Sgd Or Engr. Edgardo E. Gela Torre, Jr. BAC Member - Technical	left rs		Sgd 8 MAR 2025 Engr. Angetoja, Reyes BAC Member-End User
	Approved by:		
Sgd <u>v3/27/75</u> 044) 815-3363 / (044) 815-3238 smwdbulacan@yahoo.com	General "YOU	os N. Santos Jr. Manager 44 IR WATER. OUR OBLIGATION CONVENIENCE OUR SERVICE	TÜVRheinland CERTIFIED
www.smwdbulacan.gov.ph #302 J.P. Rizal St., Poblacion, Santa	Maria, Bulacan		